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Date Interpretation Bar Graph Questions for SBI Clerk Pre, IBPS Clerk 
Pre, RBI Asst., LIC Asst. and IBPS RRB Exams. 

DI Bar Chart Quiz 55 

 
Directions : Study the following bar chart carefully and answer the questions given beside. 

Number of candidates (in lakhs) appearing for an entrance test from various cities. 
 

 
 

1.  What is the respective ratio of the number of candidates appearing for the entrance 
test from Mumbai and Agra in the year 2010? 

A. 11 : 12  B. 28 : 33  C. 12 : 11  D. 11 : 13  E. None of these 
 

2.  What is the average number of candidates appearing for the entrance test from all the 
cities together in the year 2010? 

A. 2800000  B. 2950000  C. 2755000  D. 2795000  E. 2917000 
 

3.  The number of candidates appearing for the entrance test from Delhi in the year 2011 
is what per cent of the number of candidates appearing for the entrance test from 
Bhopal in the same year? 

A. 75.34%  B. 112.53%  C. 124.22%  D. 130.43%  E. 97.19% 
 

4.  What is the respective ratio of the number of candidates appearing for the entrance 
test from cities Mumbai, Delhi and Bhopal together in the year 2010 to the number of 
candidates appearing for the entrance test from cities Agra, Hyderabad and Patna 
together in the same year? 

A.18 : 17  B. 13 : 14  C. 86 : 91  D. 14 : 13  E. None of these 

  



 

 

5.  The number of candidates appearing for the entrance test from city Hyderabad in the 
year 2011 is what per cent of the total number of candidates appearing for the 
entrance test from all the cities together in the same year? 

A. 17.05%  B. 16.15%  C. 12.31%  D. 14.49%  E. None of these 
 
 
Correct Answers: 

 

1 2 3 4 5 

B B D C A 
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Answers : 
 
1.   Required ratio = 28 : 33 
  

Hence, option (B) is correct. 

 
 

2.   Required average number of candidates 

=  
28 + 28 + 30 + 33 + 23 + 35 

 lakh 
6 

 

⇒  
177 

 lakh = 29.5 lakh = 2950000 
6 

 
Hence, option (B) is correct. 

 
 

3.   

Required percentage  =   
30 

 × 100 = 130 
23 

 
Hence, option (D) is correct. 

 
 

4.  Required ratio = (28 + 28 + 30) : (33 +23 + 35) = 86 : 91 
  

Hence, option (C) is correct. 

 
 

5. Total number of candidates appearing for the test from all the cities in 2011. 
⇒  (33 + 30 + 23 + 28 + 30 + 32) lakh  = 176 lakh 

  
Number of candidates appearing in the test from city Hyderabad in 2011 = 30 lakh 

  

Reqd. % = 
30 

 × 100 = 17.05%  
176 

 
Hence, option (A) is correct. 
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